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f : V → R V ⊆ G = { , . . . , N}× { , . . . ,M}
u : G → R G\V

R(u) = TV(u) =
∑

i∈G,j∈Ni

∥ui − uj∥

i ∈ G j, k ∈ G

R(u) = β TV(u) + β
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d (uj , ui, uk)

d (x, y, z) := ∥x− y + z∥ x
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f : V → M V ⊆ G = { , . . . , N}× { , . . . ,M}
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proxλϕ(g) := argmin
u∈Mn

n∑

i=

d(ui, gi) + λϕ(u).

ϕ(x) = dM(x, f) , f ∈ M

ϕ(x) = dM(x , x )

ϕ(x) = d (x , x , x )
S

x(k+
l+
c ) = proxλkϕl

(x(k+
l
c )), i = , . . . , c− , k >



c(s, t) = t s

ϕc(s) := inf
t∈R

{c(t, s)− ϕ(t)}.

ϕcc = ϕ ϕ

u s

⇒

Rp(x) = p− x
Rp(x) = expp(− logp(x))

Rϕ(x) = Rproxϕ
(x)

ϕ+ ψ

Rηϕ ◦Rηψ
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P( ) × ×

α = .
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M = P( ) G = (V,E)

V =

E = R dmax =



M = P( ) G = (V,E)

V =

E = R dmax =

λ =
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